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In the Name of God

A. Choose the best answer to complete the sentence and mark your answer sheet.

1. Everyone was ______ the threat of military intervention in that area. 
a. frightened for b. frightened
c. frightened to d. frightened by

2. I was surprised to see ______ at the concert.
a. those number of people b. that amount of people
c. that number of people d. those amount of people 

3. If she had not been badly hurt in a car accident, ______ in last month's marathon. 
a. she would have participated b. she would participate
c. she would had participate d. she participated

4. Our success depends ______ the project by December.
a. finishing b. about finishing
c. on to finish d. on finishing

5. There ______ in that part of the country.
a. is not many industry b. are not much industry
c. is not much industry d. are not many industry

6. I let my cousin ______ my car when he came to visit me. 
a. to borrow b. borrow
c. borrowing d. borrowed 

7. As soon as ______ with an acid, salt, and sometimes water, is form. 
a. a base reacts b. a base will react
c. a base is reacting d. the reaction of a base

8. A computer is usually chosen because of its simplicity of operation and ease of 
maintenance ______ its capacity to store information. 
a. the same as b. the same
c. as well as d. as well

9. In simple animals, ______ reflex movement or involuntary response to stimuli. 
a. behavior mostly b. most is behavior
c. the most behavior d. most behavior is 

10. It is presumed that rules governing the sharing of food influenced ______ that the 
earliest cultures evolved. 
a. that the way b. is the way
c. the way d. which way

11. Canada does not accept immigrants, and ______ . 
a. Mexico does neither b. Mexico doesn't either
c. neither Mexico does d. either does Mexico

12. I wish I had not signed that contract without ______ . 
a. first having consulted a lawyer
b. not first having consulted a lawyer
c. first having consulted lawyer 
d. first having consulting a lawyer

13. Thirty-eight national sites are known as parks, another eighty-two as monuments, 
and ______ . 
a. the another one hundred seventy-eight as historical sites
b. seventy-eight plus one hundred more as historical sites
c. as historical sites one hundred seventy-eight
d. the other one hundred seventy-eight as historical sites
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14. The reason they are not coming is ______ . 
a. because they are angry with the hosts
b. that they are mad at the hosts
c. that they are angry with the hosts
d. because they are mad at the hosts.

15. Employers often require that candidates have not only a degree ______ . 
a. but two years experience b. also two years experience
c. but also two years experience d. but more two years experience

B. Identify the one underlined word or phrase that must be changed in order for 
the sentence to be correct. Then mark your answer sheet. 

16. Since Ali had been seriously ill for several months, his parents were concerned 
A B

about him wanting to return to school full-time. 
C            D

17. The students were quite surprised to find these kind of archeological ruins in the 
A            B

particular area that they had chosen for the dig. 
C     D

18. In spite of the exceedingly favorable financial benefits she is receiving, Mary now 
A                      B

wishes that she was not stationed in Alaska for three years.
C D

19. Life in modern society lacks the sense of permanent that is so important to social 
A B C

stability. 
D

20. Having ran for three miles, I was exhausted but exhilarated. 
A         B C         D

21. The living room was enough large to accommodate two long sofas easily. 
A B    C D

22. Even though they have been looking for an apartment for a month now, they have
A B C

not been able to find one anywheres. 
D

23. He had his tailor made an exotic oriental-looking robe for opening night.
A  B C D

24. There were never any secrets among my sister and me when we were growing up. 
A B    C  D

25. Their office has not still returned the original document to us.
A B   C D

26. I cabled them my arrival time so they could meet me at the airport.
A        B  C                 D

27. He is said to having been an excellent opera singer in his youth. 
A                 B C         D

28. The teacher asked them who had completed their tests to turn in their papers and 
A B

to leave the room as quietly as possible.
C     D
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29. My brother has always helped me in time of need, and I wish that he was here 
A B         C D

now.
30. A swarm of locusts is responsible the consumption of enough plant material

A B
to feed a million and a half people.

C D
31. Oyster farming has been practice in most parts of the world for many years.

A B             C D
32. The prices at chain stores are as reasonable, if not more reasonable, as those at 

A B C D
discount stores. 

33. The Chinese were the first and large ethnic group to work on the construction of
A B C D

the transcontinental railroad system. 
34. Interest in automatic data processing has grown rapid since the first large 

A  B       C       D
calculators were introduced in 1950. 

35. Although it cannot be proven, presumable the expansion of the universe will slow 
A                  B                  C

down as it approaches a critical radius.
D

36. A City University professor reported that he discovers a vaccine that has been
A B

80 percent effective in reducing the instances of tooth decay among small children. 
C D

37. Gunpowder, in some ways the most effective of all the explosive materials, were a 
A B C D

mixture of potassium nitrate, charcoal, and sulfur.
38. As the demand increases, manufacturers who previously produced only a large, 

A
luxury car is compelled to make a smaller model in order to compete in the market. 

B                       C        D
39. The most common form of treatment it is mass inoculation and chlorination of 

A                       B                  C
water sources. 

D
40. The extent to which an individual is a product of either heredity or environment 

A
cannot proved, but several theories have been proposed. 

B                            C                   D

C. Choose the best choice with the nearest meaning to the underlined word and 
mark your answer sheet. 

41. Enriched uranium is a key component of a nuclear weapon. 
a. element b. aspect
c. ingredient d. particle
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42. She was an industrious and willing worker. 
a. a conscientious b. a frank
c. an inventive d. a hard-working

43. Pupils should be helped to adopt a positive approach to the environment. 
a. emphasize b. turn in
c. accept d. verify

44. Aim to do some physical activity three times a week for optimal health.
a. ideal b. feasible
c. balanced d. strong

45. He founded the Center for Journalism Studies at the university.
a. financed b. established
c. underscored d. trapped

46. The idea evolved from a drawing I discovered in the attic.
a. converted b. developed
c. sustained d. denied

47. The captain notified the coastguard of the tragedy on board.
a. perceived b. secured
c. imagined d. informed

48. The historic building is as much part of our heritage as the paintings. 
a. inheritance b. belonging
c. maintenance d. sacrifice

49. Favorable weather is crucial to a good harvest. 
a. formidable b. powerful
c. critical d. reliable

50. The jury deliberated for five days before finding him guilty.
a. compelled b. consulted
c. obliged d. impressed

51. The foreman acknowledged the fact that there had been a mistake in the design of 
the house. 
a. exemplified b. isolated
c. illustrated d. conceded

52. It took about 50 minutes to extinguish the fire. 
a. initiate b. disguise
c. put out d. omit

53. The girls were afraid of snakes and picked their way along with extreme caution.
a. great b. varied
c. expanded d. peculiar

54. The soldiers were working hard to fortify the airbase out of the city.
a. suspect b. fabricate
c. reinforce d. confide

55. The company's commitment to providing quality at a reasonable price has been 
vital to its success. 
a. allocation b. pledge
c. influence d. intention

56. Under the country's stiff anti- drugs laws the smugglers could face 20 years in jail.
a. absurd b. flexible
c. nominal d. severe

57. Officers, involved in the scandal, would be inhibited from doing their duties.
a. legislated b. exhausted
c. resisted d. forbidden
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58. A very high temperature usually denotes a serious illness. 
a. indicates b. encompasses
c. shelters d. functions

59. Lowering interest rates could have disastrous consequences for the economy.
a. inaccessible b. harmful
c. enormous d. beneficial

60. The players encircled their coach after winning the big game. 
a. dominated b. released 
c. circulated d. surrounded

61. The artist's paintings have an erratic quality, some being excellent, and others 
mediocre.
a. dispersed b. ruined
c. inconsistent d. trivial

62. All the soldiers promised fidelity to their country.
a. celebrity b. amenity
c. safety d. loyalty

63. The fertile soil of the area enables farmers to have good crops. 
a. dry b. rich
c. drab d. humid

64. The sale of the building had a minuscule effect on the profits of the corporation. 
a. prime b. very great
c. vigorous d. very small

65. He has a rudimentary knowledge of computers that helps him with his study.
a. basic b. dormant
c. ideal d. arbitrary

66. The problems of inflation and unemployment still cause a lot of resentment.
a. rejection b. opposition
c. contentment d. bitterness

67. This agreement is very ambiguous and open to various interpretations.
a. substantial b. dubious
c. mysterious d. enormous

68. The game was also notable for the bizarre behavior of the team manager.
a. diverse b. durable
c. weird d. energetic

69. His vibrant personality made him well liked by everyone.
a. brilliant b. critical
c. uniform d. rigid

70. The government is going to launch a communications satellite next week. 
a. convey b. elude
c. discharge d. detect

D. Read the following passages carefully. Then choose the best answer to each 
question and mark your answer sheet.

Plague is a disease carried by animals, primarily by rodents, and by people. It was 
widespread in Europe, where in the 1300s, 25 million people died and raging
epidemics spread as late as the latter part of the seventeenth century. Once people 
became aware of the fact that plague was spread by rats that carried the epidemic on 
ships from one port to another, rodent extermination put an end to the devastating 
plagues in the world. In the United States, plague occurred in epidemic strength in 
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San Francisco in 1900. Intensive rat control measures were employed immediately, 
but squirrels in the area had been infected and had to be destroyed too. Descendants of 
these rodents continue the infection and have transmitted it to other rodents such as 
prairie dogs in the western and southwestern parts of the United States. The plague is 
endemic to those areas that are sparsely populated. There have been scattered cases of 
plague since 1900, but no serious outbreaks. 

71. Plague is spread by … . 
a. rats b. rodents and people
c. ships d. prairie dogs and squirrels

72. You can infer that there were no further raging plague epidemics … . 
a. after the 1300s b. in Europe 
c. after the seventeenth century d. in San Francisco

73. The western and southwestern parts of the United States … . 
a. still have serious outbreaks of plague
b. are the habitat of infected rodents
c. have large populations
d. are sparsely populated because of the plague

74. The plague spread in Europe because … . 
a. infected rats traveled in ships
b. people did not know what caused the disease
c. nothing was done to prevent the disease 
d. all of the above

75. Raging epidemics ended in Europe when … . 
a. ships were not allowed in foreign ports
b. rats were exterminated
c. populations moved out of the big cities
d. 25 million people had died

76. You can infer that in the late 1300s … . 
a. Europe's populations was very small
b. intensive rat control measures were applied
c. people were extremely poor
d. people were accustomed to the plague

Sloths are bizarre little beasts that are, above all, slothful. Prone to sleep ten to 
twenty hours a day, a sloth settles in for its daily rest at the top of a leafy tree, far from 
any famished predators on the ground. There the sloth makes his home, furnished 
with branches both for clinging and eating. A voracious vegetarian, this wild animal 
weighs in at about twenty pounds if it has three toes and at about ten pounds if it has 
two toes. There are only two genera of sloth, but each has characteristics other than 
the number of its toes to distinguish it from the other. The three-toed sloth variety 
refuses to exist away from the wild, whereas the two-toed type has been resident in 
zoos and has thrived. The three-toes is so slow and sleepy that it won't even take the 
trouble to defend itself. The two-toed fellow will attack with its hook and teeth if 
threatened. Both types, by definition, move so lowly as they drag their bellied along 
the ground that they make a tortoise look like Jesse Owens in comparison. 

77. You may infer that the meaning of the word slothful is … . 
a. vegetarian b. wild
c. lazy d. tree dwelling
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78. A sloth's diet consists of … . 
a. other sloths b. predators
c. a variety of things d. leaves

79. A three-toed sloth, when attacked, … . 
a. fight back viciously b. puts up a weak defense
c. ignores the opponent d. acts like a tortoise

80. Of the two types of sloth, the two-toed variety is … . 
a. more vicious b. sleepier
c. bigger d. hungrier

81. The author's purpose in comparing a tortoise to Jess Owens, an Olympic runner 
who won four gold medals, is … . 
a. show how fast Owens was
b. show how slow a turtle is
c. show how slow a sloth is
d. compare the speeds of a tortoise, a man, and a wild animal 

The fact that most Americans live in urban areas does not mean that they reside in 
the center of large cities. In fact, more Americans live in the suburbs of large 
metropolitan areas than in the cities themselves. 
The Bureau of the Census regards any area with more than 2500 people as an urban 

area, and does not consider boundaries of cities and suburbs. According to the Bureau, 
the political boundaries are less significant than the social and economic relationships 
and the transportation and communication systems that integrate a locale. The term 
used by the Bureau for an integrated metropolis is an MSA, which stands for 
Metropolitan Statistical Area. In general, an MSA is any area that contains a city and 
its surrounding suburbs and has a total population of 50,000 or more.
At the present time, the Bureau reports more than 280 MSAs, which together 

account for 75 percent of the US population. In addition, the Bureau recognized 
eighteen megapolises, that is continuous adjacent metropolitan areas. One of the most 
obvious megapolises includes a chain of hundreds of cities and suburbs across ten 
states on the East Coast from Massachusetts to Virginia, including Boston, New York, 
and Washington, D.C. In the Eastern Corridor, as it is called, a population of 45
million inhabitants is concentrated. Another megapolis that is growing rapidly is the 
California coast from San Francisco through Los Angeles to San Diego. 

82. Which of the following is the best title for the passage?
a. Metropolitan Statistical Areas b. Types of Population Centers
c. The Bureau of the Census d. Megapolises

83. According to the passage, where do most Americans live?
a. in the center of cities b. in the suburbs surrounding large cities
c. in rural areas d. in small towns

84. Which of the following are NOT considered important in defining an urban area?
a. political boundaries b. transportation networks
c. social relationships d. economic systems

85. The word "integrate" in paragraph 2 is closest in meaning to … . 
a. benefit b. define
c. unite d. restrict
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86. According to the passage, what is a megapolis?
a. one of the ten largest cities in the United States
b. one of the eighteen largest cities in the United States
c. one of the one hundred cities between Boston and Washington
d. any number of continuous adjacent cities and suburbs

87. Why does the author mention the Eastern Corridor and the California coast in 
paragraph 3? 
a. as examples of megapolises
b. because 75 percent of the population lives there
c. to conclude the passage
d. the Bureau of the Census is located there

The body of an adult insect is subdivided into three sections, including a head, a 
three-segment thorax, and segmented abdomen. Ordinarily, the thorax bears three 
pairs of legs and a single or double pair of wings. The vision of most adult insects is 
specialized through two large compound eyes and multiple simple eyes.
Features of an insect's mouth parts are used in classifying insects into types. Biting 

mouth parts, called mandibles, such as the mouth parts found in grasshoppers and 
beetles, are common among insects. Behind the mandibles are located the maxillae, or 
lower jaw parts, which serve to direct food into the mouth between the jaws. A 
labrum above and one below are similar to another animal's upper and lower lips. In 
an insect with a sucking mouth function, the mandibles, maxillae, labrum, and labium 
are modified in such a way that they constitute a tube through which liquid such as 
water, blood, or flower nectar can be drawn. In a butterfly or moth, this coiled 
drinking tube is called the proboscis because of its resemblance, in miniature, to the 
trunk of an elephant or a very large nose. Composed chiefly of modified maxillae 
fitted together, the insect's proboscis can be flexed and extended to reach nectar deep 
in a flower. In mosquitoes or aphids, mandibles and maxillae are modified to sharp 
stylets with which the insect can drill through surfaces like human or vegetable skin 
membranes to reach juice. In a housefly, the expanding labium forms a sponge-like 
mouth pad that it can use to stamp over the surface of food, sopping up food particles 
and juices. 
Insects, the most numerous creatures on our planet, are also the most adaptable. 

They require little food because they are small. They easily find shelter and protection 
in small cervices in tress and surface geological formations. Species of insects can 
evolve quickly because of their rapid reproduction cycle; they live in every climate, 
some making their homes in the frozen Arctic regions and many others choosing the 
humid, warm, and nutrient-rich rain forest environment. An active part of the natural 
food cycle, insects provide nutrition for animals and devour waste products of other 
life forms. 

88. What is the best title for this passage?
a. An Insect's Environment b. The Structure of and Insect
c. Grasshoppers and Beetles d. The Stages of Life of an Insect

89. How are insects classified?
a. by the environment in which they live
b. by the food they eat
c. by the structure of the mouth
d. by the number and type of wings
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90. The author compares labrum and labium to … . 
a. an upper and lower lip b. mandibles
c. maxillae d. jaws

91. What is the proboscis?
a. nectar b. a tube constructed of modified maxillae
c. a kind of butterfly d. a kind of flower

92. Which of the following have mandibles and maxillae that have been modified to 
sharp stylets?
a. grasshoppers b. butterflies
c. mosquitoes d. houseflies

93. The word "it" in paragraph 2 refers to … . 
a. pad b. food
c. housefly d. mouth

94. What is the purpose of this passage?
a. to complain b. to persuade
c. to entertain d. to inform

Historians have long known that there were two sides to the Populist movement of 
the 1890s: a progressive side, embodying the protests of farmers against big business, 
and a darker side, marked by a distrust of Easterners, immigrants, and intellectuals. In 
the 1950s, one school of U.S. social thinkers constructed a parallel between this dark 
side of Populism and the contemporary anti-communist crusade spearheaded by 
Wisconsin Senator Joseph McCarthy, which attacked liberalism, Eastern intellectuals, 
and civil liberties in general. To Seymour Martin Lipset, McCarthyism represented 
“the sour dregs of Populism”; to Edward Shils, McCarthyism, like Populism, 
exemplified “the ambiguous American impulse toward ‘direct democracy’”. 
Noting that McCarthyism and Populism had both found their strongest support in the 

agrarian Midwest, Lipset argued that voters who backed agrarian protest movements 
during earlier economic crises had supported McCarthy in the post-World War II 
period of prosperity.  “It would be interesting to know,”. Lipset wrote, “what 
percentage of those who supported the isolationist but progressive Bob La Follette in 
Wisconsin now backs McCarthy.” But, in the eyes of these writers, the appeal of 
McCarthyism extended beyond the agrarian base of Populism to include urban groups 
such as industrial workers.  Lipset claimed that “the lower classes, especially the 
workers,” had backed McCarthy.  In a more sweeping fashion, Lewis Feuer claimed 
that “it was the American lower classes … who gave their overwhelming support to 
the attacks in recent years on civil liberties.” 
Writing a few years later, political scientist Michael Paul Rogin challenged these 

superficially plausible notions, contending that they merely embodied the writers’ 
own assumptions about the supposed intolerance of lower class groups, rather than a 
valid interpretation of McCarthyism. Rogin critically examined their assertions by the 
simple method of testing them against the evidence.  He tested Lipset’s claims about 
the continuity of McCarthyism and earlier agrarian protest movements by breaking 
down statewide voting statistics on a county-by-county and precinct-by-precinct basis.  
He found that Wisconsin counties that had voted strongly for Progressives before 
World War II did not support McCarthy; McCarthy’s support was concentrated in his
home region and in ethnic German areas that had been traditionally conservative.  The 
old Progressive vote had in fact gone to McCarthy’s opponent, the Democrats. 
To test Lipset’s generalizations about McCarthy’s support among lower-class 

groups, Rogin attempted to determine whether industrial workers had, in fact, backed 
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McCarthy.  Correlating income and employment statistics with voting records, Rogin 
found that the greater the employment in industry in a given Wisconsin county, the 
lower was McCarthy’s share of the vote.  Rogin concluded that the thesis of 
“McCarthyism as Populism” should be judged “not as the product of science but as a 
… venture into conservative political theory.” 

95. The author would probably assert that Populism and McCarthysim … . 
a. were basically similar
b. were completely opposite in character
c. were responses to, respectively, agrarian and industrial conditions
d. were essentially dissimilar movements that shared some common features

96. It can be inferred that Rogin's most serious criticism of Lipset, Feuer, and Shils's 
methodology would probably be that they … . 
a. reached incorrect conclusions about McCarthy
b. failed to examine the evidence that could support or weaken their conclusions
c. equated support for McCarthysim with anti-intellectualism
d. offered a theory that could not easily be tested

97. Rogin studied the class character of Wisconsin voters in order to … . 
a. challenge the idea that less affluent socioeconomic groups supported McCarthy
b. explain the underlying causes of the links between Populism and McCarthyism
c. account for important changes in voting patterns during the twentieth century
d. place too much emphasis on the character of Populism

98. It can be inferred that both Lipset and Rogin made which of the following 
assumptions about voter support for McCarthy?
a. Supporters of McCarthy were almost exclusively of lower class origin
b. Lower class voters generally tend to vote in favor of civil rights measures
c. the voting patterns of industrial workers are representative of lower-class 

political preferences
d. voters in Midwestern counties are typical of American voters elsewhere

99. According to the passage, Rogin concluded that the writings of Lipset, Shils, and 
Feuer … . 
a. intentionally distorted historical evidence
b. were flawed by political presuppositions
c. lent support to attacks on civil liberties
d. were marked by an anti-intellectual bias

100. The author is primarily concerned with … . 
a. comparing positions in a political debate
b. advocating the use of statistical methods in historical research
c. examining the similarities between two political movements
d. describing an instance of flawed historiography 

GOOD LUCK!


